2017 (S)
SSC PART-ll (10th CLASS)
GEMERAL MATHEMATICS GROUP-|

TIME ALLOWED: 2.10 Hours SUBJECTIVE bl 210 = &
MAXIMUM MARKS: 60 80 = ;S

NOTE: - Write same question number

-ﬁ;.@;;ﬁa?_{.jlrf:?é.{ b)}/:‘.'s'/".’ui/:‘u!ru"s.‘_{(,}:{dlﬁ il
and its part number on answer hook, as given in the question paper.
SECTION-l il
12=2x6 Efeplinmge 24 )y
EedS Py LL r=3 WPY=2mr S )

2. Attempt any six parts.

() i P(r)=2nr ,thenfind
the value of P(r) for r =3

1 1

e - — LePEEF (i)

(i)  Rationalize the denominator

(i) Define Rational Expression. EadiuFe i)

(iv) Factorize:- ax +ay - x* —xy ax+ay-x—xy &6F ()

(v) Factorize:- 27x' - 64" 27x* —64y" ZESE (V)

(vi) Define remainder theorem.

Eaide

(i) Define H.CF. e i

(viii) FindLCMof 3a'b’c', 5a’b'c’ 3a'bie’, satb'cd S (vii)

() Find H.C.F by factorization X +64. % -16 S e 3L6F ()
éx/’._,uj?éw’:_df 3

su) /_ﬂfJ..J;qub (i)
=69 A (i)

3. Attempt any six parts.
()  Define Linear Equation.
(i) Solve- 3x+3(x+1)=69

12=2x6

3x+3(x+1)

Solve:- 3(x-2) <2x+1

Write down the standard form of Quadratic Equation.
Solve:- 2x? =3x

Solve by factorization 5x = x* + 6

Define Identity Matrix

- -3 =2
Find out the transpose when A4 =[ 3 }

-1 4

-1 2
If A :{ 5 4} then find out the value of det 4

( ﬁj .LJJJ )

3(x-2) <2x +1 LA i)

..uf’g.:.)r"d)!._szade»u (iv)
25 =3x A W)

5x=x+6 'Q’Uﬁdf‘-?.’fj: (Vi)
PS5 des (il

A

{:3 —ﬂ Bl s i

1 J

Jped( deta i A{:;‘ _ﬂ A i



4. Attempt any six parts. '\12 2x 6 é,»f..,ufz’.l;r;:_J Ay
(1)

Define Right Angle. - SR A ’/J/J.sb.’ (i)
Define Complementary Angles. --U_vf.g /Jug;u sAlaliS (i)
Define Major Arc. JIPSA i)
Draw a circle of radius 2 cm. A /b.u’ui’wu( 2 ()
Define Direct Common Tangents. APy )
Describe Pythagoras Theorem. % -u:/ug..f.uf Balr (Vi)
Find the area of a Triangle whose 34 = b o 16= a2 J’wj)ﬂ-".};mﬁ (vil)
base = 16 cm and altitude = 34 cm

Define Collinear Points. -,j/(_s} /Ju/w}b(? (viii)
Find distance between (-1,3) and (-2,-1) ~Q/?’!J"J-’GU“L"JJ£ (=2,-1) 4 (-1,3) (i)

SECTION-I f.2

NOTE: - Attempt any three questions.  24=8x 3 -;é;fgymiﬁw‘;ﬁ/ 0y

8.(A)

a-b=3 sa+b=5 .QQ/?:WU:*‘:U/GE? A a+b* (A5
Find the values of @* + 5> and abwhen ¢ +»=5 and a —b =3

Factorize x"? - »" £ -yt ylt ()
Find HCF P =0, 438 ~6x -8 ..u:/r)l’” ‘U'%& (-6
1 1 1 3 v
Solve Zx+-6~x= §x+z ix+é'rz %x+% -u_/j (u)
Solve by Quadratic formula. (x-1)(x+3)-12=0 -u_'fUic..ud;KJ.u» (.7
Draw an isosceles triangle 8 600 oAbl ZET 5 LWL Sl bisi U Solagl (O
with length of equal sides 5 cm and angle included between them is  60°
7 3 i ; ; 7 3] £, .
= /A 1 A y q = -
a4 [14 9} A 4 ik 4 {14 9} (g
then find multiplicative inverse of matrix of 4
Use Cramer's rule to solve the following SIS nk St nl L)l LS (L)
linear equations. x+3y=6; 2x+y=4
Find the area of an equilateral triangle whose side is 8 m. - /r:“’.a /48 d“ w{,ww e (-9

WBBA C(7,3) 4 B(3,2) A(-1,1) et (L)
Show that the points 4 (~1,1), B(3,2) and C (7 ,3) arecollinear.
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2017 (S) C);? ) A

SSC PART-II (10th CLASS) , i i
GENERAL MATHEMATICS GROUP-I o < oaf 7
TIME ALLOWED: 2.10 Hours SUBJECTIVE _¢I» £210 =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number _é.ang_{glrﬁé C'/)J/',';JZHI/‘,Uf}’Lﬁ){QKQfﬁ 0%

and its part number on answer book, as given in the question paper.

SECTION-l (Jil.o

2. Attempt any six parts. 12=2x6 & el ip;'c.df 274
5 5.7 e
() Simpify, 32X Rxy EF 0
-4x’y’ ~4x%y’

(i) Solve by using formula. ~ 8x* + 27 8x> +27y° SESeudlrb i)
(iiiy Simplify. 12V5 + 445 — 65 . 1245 + 445 — 645 &/ (i)
(iv) Factorize. ax+ay —x’ —xy ax+ay-x’-xy _“éjfu (iv)
(v) Factorize. @’ b —a +b S b —ash S W)
(vi) What is meant by Zero: of a Polynomial? ) "c.:r/ui»_./ﬂLJ / (vi)
(vii) Write formula of relationship between H.C.F and L.C.M. dgf Ku"’ i LLJ’LJM: ""fy b (vii)
(viii) Find H.C.F by factorization. 8xy*z* , 12x*y*7’ 8xy’z’ , 12x°y°2° -é_f}"f)”l;&d APk (viil)
(ix) Find L.C.M by factorization. ra-pq. p’q’ - p'q’ -“érﬂ-"‘ff.,iwissdf;g;): (ix)
3. Attempt any six parts. 12=2x6 Z’://u Lfiliific,df 34y
(i)  Define Linear Inequalities. - /(J/’Jw'ﬂ// J’) (i)
(i) Solve. 3(2x-1)=5(x—1) 32 =1)=5(x=1) LA i)
(i) Solve. 3(x —2)<2x+1 x-2)<2x+1 AL (i)
(iv) Solve by factorization. (2x +1)(5x—-4)=0 (2x+1)(5x-4)=0 -Q/J’J;f:yzi: (iv)
(v)  Write quadratic formula. -ufﬁ.:b/ K J G (v)
(vi) Findthe solutionsetof x* —9 =0 ¥ -9=0 Uit (i)
(vii) Define Diagonal Matrix. I8 (i

2 3 1 7 . " 1 7 |12 3] &
(viil) If A{] 5} and Bz[4 6} -J_./W-"'.;{J 3B—-34 B:{4 6} sl A—[l 5] 21 (viii)

then find the value of 3B — 34

. -4 1][x 1 -
(ix) Write the following system in equations form -u:.”u:ﬁ!u?uvf 5 4} [ JJ - {_ 1} (ix)
-4 1 X 1 ;
FRHEN

( 27_f J;s)



g (2) ~
4. Attempt any six pa@ 12=2x6 Hé;/:,gi.?if?fi;,df 4 )y

()  Define Vertical Angles. WJ/"J&—JU% (i)

(i)  Two angles are supplementary and the e f N8kl -z 30° c'_,d_ﬂ.fé..)”’,ybi/.rslwd ,Ji’a.}u-: (ii)
greater angle exceeds the smaller by 30°. How many degrees are there in each angle?
(i) Define Parallelogram and make diagram. J L,J;;s I o /’L,(wadw‘ (iif)
(iv) Drawatriangle ABC whose each side is 6 cm. A5 6 wffu" k ABC &infi ()
(v) What is the tangent to the circle? PRI O
(vi)  Find the volume of the cube whose each edge is 8m. /8 bL‘J}Ku)-J_/p‘-"lf (At (v
(vii) What is Pythagoras Theorem? fe Veuflile (i
(viii) Define Collinear Points. _Ju}ﬁ,w; (vii)
(ix)  Find the distance between the pair of points. (-1, 3), (=2, -1) - “/rsl”'.iﬁbu»-‘ 3L(=1,3), (=2, -1)bB»  (ix)

SECTIONAI 1.2
NOTE: - Attempt any three questions.  24=8x3 .ot felinlelvic Y o

5(A) Find &' -5 if a-b=6, ab=17 xﬁg.fr:h’;ﬁ»,’fd/ a’=p ()5
(B) Factorize. 8x* — 6x — 9y + 27y’ 8x* — 6x —9y + 27y’ -éd,; (<)
6.(A) Find L.C.M by factorization. 2% =, =yt 2P =yt -._:T,fr:b’ ],jwi,jgf,:),; (A)-6
(B) Solve and check 3(x+5)>2(x+2)+8 ,éJm l&, ()
7.(A)  Solve by Completing Square Method. 3x2 +5x-4=0 S dff 2 (.7
(B) Draw an equilateral triangle with length of each side 4 cm. S 4 (',y Bl (L)
8.(A)  Find the value of unknown x from the given triangle. A x e el ()-8

\
X
v
(B) Construct an equilateral triangle having each side - 6em JUSEHL AL /b..:'*J»ﬂCuku.';j,-L/._J.__’/f ()
length 6 cm.

Se e M8 - F S /J//oLnJ/' 15 2vpiisd LW Sk 17/ ()29
9.(A) Ifaladder 17m long when set against the wall of a house then it just reaches a window at a height
of 15 m from the ground. How far is the lower end of the ladder from the base of wall? .
(B) What kind of a triangle has vertices? ~ 4(6, -2), B(l,-2), C(-2,2) ?u;?d/.wg(,/u{”zd_’}@ﬂ ()
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PAPER CODE 2017 (S)

NUMBER' 3265 SSC PART-lI (10th CLASS)

GENERAL MATHEMATICS GROUP- ) F?
TIME ALLOWED: 20 Minutes OBJECTIVE (&0 w20 =
MAXIMUM MARKS: 15 15= A

e B\ I3 L S erne S s vy $6317 <L L D 4 C B A MR Lry S
V1 -kag_L_de%J}rpﬁ:«u‘JL/c:,E Bubbles _fﬁu‘jw‘.,l:’.ufiut:’»‘JL/q Jok ! i../.(’,r(wflmkja.ug <&

Note: You have four choices for each objective type question as A, B, C and D. _u:/’:;fﬂ,‘r,awr.;.g{.glr

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Solution setof (x —2)* =4 is:- e ff (x-2) =4 (1)
(A) {0, 4} (B) {-6,2} ) {-6,-2} (D) {2, 6}
(2) Two matrices with same order and equal corresponding elements "y 0. Munubfulea}b'bﬂql LS (2)
are called:- (A) Equal matrices /6(fsl (B) Diagonal matrices «/6(J%
(C) Square matrices 6./ (D) Unequal matrices ..)G‘d:v,;"
@) A '=—4 then 4 iscalled:- et A md' ' =—4 /i @
(A) Symmetric S (B) Skew symmetric S 84 (C) Transpose J;;JI) (D) Square matrix /6.,
(4) The sum of the interior angles of a triangle is:- -q_.’:‘m:f b’ug;lJJu;IL.:.«Lf- (4)
(A) 90° (B) 180° (C) 270° (D) 360°
(5) Aline joining one vertex of a triangle and perpendicular to its -q.tﬂ'.'g/{cjf’ JL?.:.JU..QLMF" (5)
opposite side is called:-
(A) Angle bisector <i#t.ls; (B) Median 2b-s  (C)Altitude {1 (D) Side bisector #t¥ é‘
(6) Area of an equilateral triangle with side 'a'is:- - bn i) 0 'a’ éj{u’»&ﬁ-bmufdw (6)
1 J3d? 3a’
(A) Ebh (B) bh (C) 2 O =
(7) Point on the axis do not lie in any:- -lrnuf’uﬁ 1 u’( ,b‘ﬁ:ﬁr,;;f (7)
(A) Plane §#~* (B) Line & (C) Circle v/ (D) Quadrant &
(8) @’ -3ab(a-b)-b'=? a —3ab(a-b)-b =27 (8)
" @+ ®) (a+b) ©) @'~ b ©) @-8’
9) Ja= a2 isasurdoforder:- e fg= gt (V& (9
(A) 0 (B) 1 (C)2 (D) %
(10) If P(x) =x* —2x* +5x +1 M P() I P(x) =2 -2x* +5x+1/ (10)
then P1)=2? (A) S (B) -5 (C) -7 (D)0
(11) A cubic polynomial is of degree:- -q.tﬂ,?»{(})/?:?u/ (11)
(A) 0 (B) 1 (C) 2 (D) 3
(12) LCMof 12p%¢?, 8p? is- e Sk 12 p°¢7 ,8p* (12)
(A) 24 pq* (B) 24 p’q (C) 24p°¢ (D) 12 p’q
(13) For each real number 'x’' the absolute value of 'x' is denoted by:- ..c‘.twj;lﬁf-:«a’fﬁb J = ché} (13)
(A) |x| (B) —x (C) x oo
(14) The symbol > stands for:- -c‘_d)}tb' > ek (14)
(A) Greater than < Iz« (B) Greater than or quual to < 4%
(C) Less than or equal to ¢ lze e (D) Equal to 4L
(15) Solutionsetof x* =1 s e J¥ 2P =1 (15)
(A) {1} B {1} C{£i} O) {-1}
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PAPER CODE 2017 (S) C%/O/ A

NUBBER: 3266 SSC PART-Il (10th CLASS)

GENERAL MATHEMATICS GROUP-I| PSSy}
TIME ALLOWED: 20 Minutes OBJECTIVE d"}/’y o420 = =
MAXIMUM MARKS: 15 15= Af

S oL /L[/b.nl:/u’ﬂvi. [:"'-...-fﬂr'_.udu.!/ud:d...)d.b&dlrfj(é{dff u‘éa..: » C B A ».JL':".,FJM:.J';’; -y
/! -G’c..twhu’//d/u“u.fﬂ(fﬂ_.f.; Bubbles _?fxﬂﬂvi?agﬁu:uzﬂ;(é_.& ok .)__/Jummg;.»_..{ 2=
Note: You have four choices for each objective type question as A, B, C and D. _u_{)::d‘},c‘-_—:. Ulyg 22 dis
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Aline joining one vertex of a triangle to the mid point of its -< t‘ﬂvﬁlﬁ Ulsd_ uﬂzﬁ&iéé" e Jb..QL&Jf‘ (1)
opposite sides is called:-

(A) Angle bisector i#(€,s; (B)Altitude {4 (C)Median .:k-s (D) Side bisector #L§E”

(2) Area of rectangle is:- e @
(A) £xb (B)%x€+b (C)%X«‘Hb (D) ¢

(3) A point in a cartesian plane determines a unique ordered pair of - o t/ufj b’.»..;‘:?._g%)’ﬁ.bﬁuﬁufdﬁ“o{( (3)
(A) Set & (B) Abscissa  Luwanl  (C) Numbers slu! (D) Ordinate 3.1

(4) (a-b)(a* +ab+b*)=2? (a=b)(a*+ab+b*)=7 (4)
(A) (a = b)’ (B) (a + b)’ C) o -p’ (D) @ +&°

(5) An irrational number that contains radical sign is called a:- ~¢rM el mu“/ wu"L/u (5)
(A) Mixed surd ("IJJM::'; ) Surd ("Lfl,w (C) Rational number wul’L (D) natural number mdu.!

(6) Factorization of x*— 16 is:- A (x-2)(x+2) -§.de x'=16 (6)
B)(x-4)(x+4) C) (x=2)(x+2)(x*+4) D)(x—-2)(x+4)

7 POy=x" — 25" + 5% +1 Aredl PA) W P=F-2245x+1 S ()

thenvalueof P(1) willbe- (A) 5 (B) -5 (C) -7 (D)0

(8) HCFof 15grs , 6pgr is- <k bpar < 15grs (g)
(A) 3qr (B) 3pgr (C) 3pgrs (D) 15pgrs

(9) The solution setof | x | =3 is: <o f¥ x| =3 (9
(A) {3} (B {-3} (€) {3} ©) {o }

(10) The solution setof | x —1| =4 is:- -;.a;d'( lx-1]|=4 (10)
(A) {s,-3} (8){-5 -3} (€) {-5,3} (0) {53 }

(11) Inmatrix (4B8) (4B) LLude (1)
(A) A (B) B (C) B4 (D) 4'B"!

(12) The number of rows and columns in a matrix determines its:- -LJ/QU U ;wJu:)bsluuLb (12)
(A) Order .z, (B) Rows (//& (C) Columns /¢ (D) Determinant &

(13) The number of techniques to solve a quadratic equation are:- e /’LL/J’LF:L/‘&»» (13)
(A) 1 (B) 2 (C)3 (D) 4

(14) The solution setof x* = 1is: e f¥ =1 (1)
(A {1} (8) {£1} € {zi} o {-1}

(15) Atriangle containing three acute angles is called:- _.;..'JLE-( Wbl sigEL fadesl  (15)
(A) Acute Triangle &4 57150 (B) Right Triangle &b o724
(C) Equilateral Triangle &t{ uoyifsls (D) Scalene Triangle &k, oyl i
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